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50 0O0oooono

gododpooooouoooooogoog
A=ay(z,y, 2)e, +ay(z,y, 2)e, + a.(x,y, 2)e,

D000 {@do00 AODOOO0DOOOO). ADOO (divergence, HOOD OO0
hHooooooooobooo.

day n da, Oa,

leAE&r ay—l—az.

(5.1)

() ¢=p(x,y,2) 00000000000,
div- (pA) = (gradp) - A+ pdiv- A
gogoooooo.
) 000000 000,

2 2 2
. vy Oy Oy
dlv(grad@):@+aiy2+@

gogobgoo.

div (grad ) 0 V-(Vy), V2 00000.000 VOO0 ADOO,00000
oooooooo.

(3) 3000000000000000.000000000000000 v(z,y,2)
000000.0000000000000 P(z,y,2)000000,000
z,y,,0000000000 (de,dy,d2) 00 000000000.0000
0000000000000000000,0000

(div v)p x dxdydz

0000000000.000 (dive)pdOPOOOO»000000.
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52 OOOOOOO

O0O0o00 ADOO,DO000 (etation, OO ODOO,0D00)0O0O0DDOOO
goooo.

_ (0Oa, Oa, da, Oa, da, Oay
rotA_<8y 8z>ez+<8z 8x>ey+<8x ay)ez. (5.2)

gogbooooogn,

rotA=| & 2 2

goooo.

(HhrotAOO ;000000000000000 000000.
2 000000 000 rot(gradp)=000000000.

(3) div (rot A)=000000000.

(4) rot (pA) = (gradp) x A+ prot ADDDODOOOOO.

() 00bOoU0oOoOobOoU0obOOobOoobOOo QOobobobobobOobobn.o
gogbbbuoogoobbuoooobb 00020000000 o000
Ud,roto 0.

53 vooood

O000000000000.000 ¢(x,y,2),v(x,y,z) 0000000, A(z,y, 2),
B(z,y,,)0000000000.

(1) V(ey) =9V + oV

(2 V(Ax B)=B-(VxA)— A-(VxB)

(3) Vx(Ax B)=(B-V)A—(A-V)B+ A(V-B) — B(V-A)

(4) V(A-B)=(A-V)B+(B-V)A+Ax (VxB)+Bx(VxA)

(5) V x (Vx A) = V(V-A) — V2A
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000000  pOOO0OO0O0OO0O0O0O0O0OaO
A: al(m7yvz)el +a2($,y»z)€2+a3($7yyz)e3

OD0OO0O0OD0O0O0OD0 dr =drey +dyes +dze; DO OO0, 00 COOO0OOO
goon

/CA-d'r:/Cal(a:,y,z)dx+a2($,y,z)dy+a3(a:,y,z)dz (5.3)
00000 A0 cOodoooogooog.
(h 00DDO00OOoO0O0oo.
(1)
/C(aA+ﬁB)-dr:a/cA.dr+5/CB-dr.
(i)
/_CA~d'r:—/CA-d'r.

Ooo0ob —coboo cooooooooobooo.

2)0b0b00 b0 b0Ob0O0O VeOUOUouoob ADOO BOOOOODO
coopooooo

Ve dr=o(B) - o(4)

O00000000.000 o(A)00 ADDOO ¢o0OD0ODOOO.
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5.5 Uuoooooaon

000000  pODOODO SOOOOODOODOODODOODbOODOD

A =a(z,y,2)e; + as(x,y, 2)es + az(x,y, 2)es
000,00000 ADOOD OOOODOOoOoDbooo.
/SA-dS:/SA~ndS:/Salnl(x,y,z)+a2n2(:c,y,z)+a3n3(x,y,z) ds. (5.4)

ooods,ds000nogno SO0 000000 obuo0,n0000dSO
gboobg b, 00bobboobo.

() 000DO00oo0ooooo.
(1)
/S(aA+5B)-dsza/SA-ds+ﬁ/SB.ds.
(i)
/_SA-dS:—/SA-dS.

OO0 -Sg Sgbooboobobooboooooooon.

Q) r0ooboooboooboo,

/S'r-ndS

g, sSbobooooooooobo.bobooooooobobo sgoog
gobobooga.

() 0000 224¢>+22=1.
() 00 z=+1l,y=+1,=4+,100000000000.
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